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abc d> =e fbd dbg> dbg>? = e hijklimniokljp =ebd =fbd ==bd =adbd dbc dbed efcdd e a=>Qqd>dedcK

rbc d> =e fbd dbg> dbsr? = f hijklitniokljp =ebd =cbd =ebd =adbd dbc dbed e=fdd f a=>Qqd>dedcK

==bc d> =c fbd dbg> dbce? = f hijklolnitklju =cbd edbd =cbd eddbd dbc dbfr =sddd f a=>Qqd>dedcK

d> =c fbd dbg> dbce? = a hijklolnitkljv =cbd edbd =cbd eddbd dbc dbfr =sddd a a=>Qqd>dedcK

d> =c fbd dbg> dbce? = > hijklolnitkljp =cbd edbd =cbd eddbd dbc dber =sddd > a=>Qqd>dedcK

=fb> dr ed ab> =bed dbc=? = a hijklojnolklwp edbd e>bd =sbd eddbd =be db>d =>rdd a a=>Qqdrdf=dK

=cbc d> ed fbd dbg> dbca? = > hijklojnolkljv edbd e>bd e=bd eddbd dbc db>= =rddd > a=>Qqd>dedcK

edb> dr e> ab> =bed dbcf? = > hijklmonojklwp e>bd febd ecbd e>dbd =be dbgc =fsdd > a=>Qqdrdf=dK

LxyzCHxyz{E

_DECz{HE|zC}

d> >>=fHdedqeg

dr >>=fHdedq>c

OFzH|FBx~C{CH~AE{HF�HExyzCHxyz{EGHECCH}}}bEyD��A�b|FzFByD{b|FB

_es â Qee Qs Q=>
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?H HIHJK 9:JLMNO 9:JLNNO ;J:L HPKH QRSTRUVWXYZST ?H[P ?HL \?< ]N ;:JL ĤH_ J^̂?

àb c= M<d eac caf= caf=> < d ghijhklmhnjoim <<ap <eac <<ac d=ac cab ca<̀ debcc d <̀=Pqc=cdcbJ

pab c= M<b eac caf= carp> < e ghijhslmhsjoim <=a= <bac <dac ecac cab ca<f d<ecc e <̀=Pqc=cdcbJ

fab cp M<b à= <adc ca=b> < d ghijnolmhsjotm <=a= dcac <̀ac e=ac <ad ca<p <p=cc d <̀=Pqcpce<cJ

cp Mdc à= <adc ca=b> < d ghijnolmnojotm <rae dcac <̀ac e=ac <ad ca<r <p=cc d <̀=Pqcpce<cJ

<<ab c= M<b eac caf= cabd> < ` ghijnolmhsjoiu <=a= dcac <bac ecac cab cac= <rccc ` <̀=Pqc=cdcbJ

c= Mdc eac caf= cabd> < ` ghijnolmnojoiu <rae dcac <bac edac cab cacp <rccc ` <̀=Pqc=cdcbJ

c= M<b eac caf= cabd> < = ghijnolmhsjoim <=a= dcac <bac ecac cab ca<b <rccc = <̀=Pqc=cdcbJ

c= Mdc eac caf= cabd> < = ghijnolmnojoim <rae dcac <bac edac cab ca<r <rccc = <̀=Pqc=cdcbJ

<ea= cp Mdc à= <adc cab<> < e ghijnilmnojotu <rae d=ac <rac e=ac <ad cacf <=pcc e <̀=Pqcpce<cJ

cp Md= à= <adc cab<> < e ghijnilmnijotu d̀ad d=ac <rac c̀ac <ad ca<d <=pcc e <̀=Pqcpce<cJ

cp Mdc à= <adc cab<> < ` ghijnilmnojotm <rae d=ac <rac e=ac <ad cadc <=pcc ` <̀=Pqcpce<cJ

cp Md= à= <adc cab<> < ` ghijnilmnijotm d̀ad d=ac <rac c̀ac <ad ca<d <=pcc ` <̀=Pqcpce<cJ

<bab c= Mdc eac caf= cab̀> < = ghijnilmnojoiu <rae d=ac d<ac edac cab cacf <pccc = <̀=Pqc=cdcbJ

c= Md= eac caf= cab̀> < = ghijnilmnijoiu d̀ad d=ac d<ac e=ac cab ca<d <pccc = <̀=Pqc=cdcbJ

c= Mdc eac caf= cab̀> < b ghijnilmnojoim <rae d=ac d<ac edac cab cadc <pccc b <̀=Pqc=cdcbJ

c= Md= eac caf= cab̀> < b ghijnilmnijoim d̀ad d=ac d<ac e=ac cab cad̀ <pccc b <̀=Pqc=cdcbJ

dca= cp Md= à= <adc cabe> < ` ghijknlmnijotu d̀ad edac dbac c̀ac <ad cadp <ercc ` <̀=Pqcpce<cJ

cp Md= à= <adc cabe> < = ghijknlmnijotm d̀ad edac dbac c̀ac <ad ca<b <ercc = <̀=Pqcpce<cJ

deab c= Md= eac caf= cab=> < p ghijknlmnijoim d̀ad edac dfac e=ac cab ca<b <=ccc p <̀=Pqc=cdcbJ

KvwxBGvwxyD

ĈDBxyGDzxB{

c= ==<eGcdcqdf

cp ==<eGcdcq=b

NExGzEAv|ByBG|@DyGE}GDvwxBGvwxyDFGDBBG{{{aDwC~�@�azExEAwCyazEA

d̂r ]̀ Pdd Pr P<= Pe
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@ABCDEAFDEGHBB

@I IJIKL :;KMNOP :;KMOOP <K;M IQLI RSTUSVWXYZ[TU @I\Q @IM ]@= Ô <;KM I_Ì K__@

abc d> Ke fbd dbe> dbe>? = g hijkilmnoknjp =gbe =fbd ==bd g>bd dbc dbdg gfcdd g a=>Qqd>dgdcK

rbc d> Ke fbd dbe> dbsr? = f hijkitmnoknjp =gbe =cbd =gbd g>bd dbc dbdf g=fdd f a=>Qqd>dgdcK

==bc d> K=d fbd dbe> dbcg? = > hijkunminknjp =rbe gdbd =cbd fdbd dbc dbd> =sddd > a=>Qqd>dgdcK

=fb> dr K=g ab> =bgd dbc=? = a hijkujmiuknvp gdbe g>bd =sbd febd =bg dbds =>rdd a a=>Qqdrdf=dK

=cbc d> K=g fbd dbe> dbca? = c hijkujmiuknjp gdbe g>bd g=bd f>bd dbc db=d =rddd c a=>Qqd>dgdcK

gdb> dr K=c ab> =bgd dbcf? = > hijklumitknvp gebe fgbd gcbd adbd =bg db=s =fsdd > a=>Qqdrdf=dK

LwxyCHwxyzE

_DECyzHE{yC|

d> >>=fHdgdqge

dr >>=fHdgdq>c

OFyH{FBw}CzCH}AEzHF~HEwxyCHwxyzEGHECCH|||bExD��A�b{FyFBxDzb{FB

_gs â Qgg Qs Q=>
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